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HEFE D& 0. 15m3/mPL 2 .
SR (NJ1) 500 m
WA tmbE 0. 15m3/mPL T A& )1 ;
Py 250 &30
ANT1iER B3 25emAT ;
b 1 =X
T CESE- EAR Y L& T) B R Eg
4. 0kmPL T
e 1 =
B2 A couE
MRE T = 633, 600
JE KPR T 2 633,600 |EREERE (HE) 4, 000 m2
FTEEYERREEEE 17, SkmlL T
X1 BLAVER [ JE = X 6 =
PREGEM AR () IHEZSE &R S
HEEWHiE L 2 3,319, 077

TAZIEE LN )R




il
W
St
%
T

THE4 | Ro6ERENEEDHEN TE

THX4y - LfE - B {7 ¥ = & F il pall 2! R
Wrim f&1E T 2 1 1,802,050 |ZE'E T.ik 2 Sy
2REIEW) Y VAR I~ RAE 0. 55m3 & Jv—tivhen
sy BRIV - BREHBASHALERA
25 1 =
BER Yy MLEE
Wrim f&1E T 2 1 834,351 |EH Lk 1 Sy

URETEW) 2 D (EAAE~RRE 0. 27m3 & )v—tAv bow
I BRFHTVY - SR SALEA

WriEE1E T = 1 682,676 | Tk 1 &Y
&) Y W AETEIE KRS 0. 22m3 & )v—tAv hew
v BRIV« BRIGBEERLERA |

SN AL T = 1 3, 662, 025
IEALBREE T = 1 3,662,025 | AR HEE 50 FER

REREEE 100 i35

EErEEE 150 i3

FA M ViR 50 53]
PES L 5L (— IR FE T

BE By EES 50 i3]
T WmERE) 350kefhiRk V7 HERETe L (—%IEER
FEL)

57" Ny iR 50 IREfH
2eFER (M aE -7 -t V] (R T E )

-y R 50 1
0. 4m3 [ ] (—EERTETe) ;

Ny )RR 50 IREfH
ILIFEO. 28m3 [FEVE] (FepkiEin F & Te) ;

Jy=v Ay ) 50 e ]
4~4. 5t HEES2. 9t (BB T A T) |

R ITVEZE B [}y ) 4 - {7 —h ] s 50 FF ]
N Ay MRITL. 0~12. Om 200kg24: (EEikERE T4
Te) ;

BB DF =] 1R 50 IRFfH

By pE230mn (REERAESE B & £ 3 ¢

-7- E ta2@d Ui




il
W
>
%
T

THE4 | Ro6ERENEEDHEN TE

TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
Fo)=[h M vzyy /] iz 50 FE ]
PE-300~400mm ;
HEYE T = 1 749, 438
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Bl A S iE 1 2V
=N Ve ERERS A A R EREE 7. OkmEA TR
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HIERR
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